Math1050 Final Exam
Spring, 2009

Name

instructions:

5 If no work is shown, there may be no credit given.

s All final answers should be written in the space provided on the
exam and in simplified form.

4+ No calculators allowed!

DO NOT WRITE IN THIS TABLE!!!
(It is for grading purposes.)
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1) @5pts) if fix)=vEx-4 . gla)=g— ,and A(x)=(x-2)'+1 find

each of the following, simplifying as far as possible:
(a) Domain of f(x) and g(x).
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Flx)=v2x—4 ,

{Note: This is #1 continued!)
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2) (10 pts) Solve the inequality.
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3) (15 pts) Use the questions below to help you find all the zeros of this
polynomial function and write it as the product of linear factors. (Remember to
show all your work!)
Fix)=x+ 2% dx —8
(a) How many possible positive roots are there?

(b) How many possible negative roots are there? 2 o O
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(c) List all the possible rational roots: F T, * Lg; F2

(d) List all the zeros of this function, along with their multiplicity:
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(e) Wirite the polynomial as a product of linear factors:
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4) (20 pts) For this rational function, answer the following questions.
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(a) What is its domain?
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(f) Sketch the graph.
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5. (20 pts) Solve each equation. (Beware of domain restrictions. )
(a) 56=8¢7

(b) logy(x+T)+log,(x—1)=3
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6) (30 pts) Given the matrices A, B, C and D, compute the foliowing, if

possible. Ifit's not possible, state the reason why.
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(Note: ThIS is #6 continued.)
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(Note: This is #6 continued.)
-1 0

(e) Let X:{j . Setup BX=C ({using Band C as given) to represent a

linear system of equations.
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(f) Solve BX=C forthe values of x and y.
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7} (10 pts) Solve this system of equations. _
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8} (10 pis) For the seguence “”z(’miﬁa)ws , answer the following questions.
(a) Write the first five terms.
y 2005 S
1 ; . PN
| r g, -7 =L
2 g y+5 9
....q ‘ 3 >V§ §
S &;"“é—-i““”’“”"'"'{?
4 ,a}i@ 2(3y¢%
5 1/{ | {"?,_{ - Qﬁg}g M’é
= % - T e e
- 2004 (3

(b) Is this sequence  arithmetic geometric or @i 7  (circle one)



g) (10 pts) For the geomelric sequence
2,6,18,54, . ..

(a) Write the iterative formula for  «, . (Assume that the first term given is the
a, term.)
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Exira Credit: (8 pts) Use mathematical induction to prove that
142422427420+ 42 =21
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